80 # K




B X T K| G2 |7ows SO |RAEF | ERER [ ERE | 2 m w

. /80O\ 3

éﬁ 24.407 I4 17.538 0 10,444 4 28.400 ‘3.9'5 «
/ 1.1,. 2
® . . @ ®
¢ &
o =
=
" o 38464
@ s
8
Y o0
_L_l:s_z_l—————‘ w0 5 &
84679 “ g e g
® 2
®
1,35263
26385 . 48066 )
BN &
_ gin 2
o 7 12733 L] 1
2 O 26.405 b p:A &

EMAEFFHAR




* k & Kk %

h“12 ., notv

80 BLOCK

LOT
LOT
LOT
LOT
LOT
LOT
LOT

~NON N Y =

INosq =

h2EY  Axb: 21951 t3ao

hoeY Aottt

3912.89

846.79
384.64
430.66
1352.63
434,96
285.86
127.33

3912.87

* A % k *k k Kk &

Azt

Aot#




* * * * %

80 BLOCK

7241
X0.Y0
80~1
80=-2
80-3
80-4
80~5
30-6
80-7
30-8
80-1

1 Lot

TUA
X0.Y0
80-1
80-2
80=-9
80-18
80=-16

- 80-1

3 LOT

ToA
X0.Y0
80-10
80-11

k k h 2t

X
- 1506200.000
-~ 150273.803
- 150271.876
- 150272.964
= 150274.971
- 150315.249
= 150317.265
- 150320.338
- 150318.470
- 150273.803

X
- 150200.000
- 150273.803
- 150271.876
- 150272.205

- 150303.6%96

~ 150304.707
- 150273.803

- 150200.000
= 150272.205

= 150272.441
- 150293.930

- 1502964.598
= 150272.205

X
= 150200.000

S = 150272.441

- 150272.582

At % s

Y
- 40000.000
- 40122.435
- 40120.553
- 40039.771
~  40037.738
- 40036.550
- 40038.441
- 40118.807
- 40120.842
= 4D0122.4735

AN ATeE
Aztd

Y
- 40000.000
—  40122.435
- 40120.553
- 40096.148
- 40094.957
- 40121.333
- 40122.435

n“ 1 Azes
Aot

Y
-~ 40000.000
-~ 40096.148
- 40078.611
- 40077.794
~  40095.302
- 40096.148

40000.000
40078.611
40068.168

nou

non

(X=X0)*(YN-1-Y0)

+ o+ o+ F o+ o+

+

(X=X0)*(YN=-1-Y0)

+ + + + +

-+

(X=-X0)*(YN=-1-Y0Q)

+ + + +

-+~

(X=X0)*(YN=1=-Y0)

+

* k Kk Kk k * X

.8800.138060
8796.029092
2981.671641
4349.266762
4286.035750
4625.913058
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8954.739399
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8897.173059
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13931.902855
14541.884596
14504 .874450

64658.407647

8897.173059
6910.733648
6856.370185
12581.746768
12819.801545
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150318.734
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150200.000
150272.582
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150274.971
150315.249
150317.265
150318.335
150272.582

X
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150318.734
150319.403
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X
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150319.403
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150309.525
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- 40068.168
- 40039.771
- 40037.738
-  40036.550
- 40038.441
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- 40076.851
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961.321242
480.660621

4973.809952
2981.671641
£349.266762
4286.035750
4548.915735
4820.606112

25960.305952
2705.277581
1352.638790

9176.239953
8926.645672
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1151.020050
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4820.606112
9094.163085
9333.798474

28186.725759

2886.658722
2753.515432
2740.190050
4430.286809
7788.272240
8066.660280

28665.583533

11204.215176
11379.344706
7359.156812
7218.614430

37161.331124
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902.731875
803.792552
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